(RN
<

—~
=

<) R S
D R R D LR

=

Q

o I SR M
[

=

o]

a(6 @) (rad)

1072

2
w
Ratio
P
N

w
N T
|
=

I 1 1 1 x 1 3 +
-2 -1 0 1 2 3 = 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
[—=— DQM original_StepZ_bar-phasel-Newgeom
—e— DQM_mkFit_step2_tthar-phasel-newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
—+— DOM fast_step2_ttbar-phasel-newgeom

, .
W[TTTT T

Xy
T

ooa )(cm)
o(dd,) (cm)

s

107}

107

1.2

Ratio
N

0.8
0.6

T T T
"

- 4 -

-2 -1 0 1 2 3 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
Q[T

I
w

[N ;

I

[=Y

10—2 - " n h n "
-% 1.2F- - 11
- [T Ak

0.8F----|H 3
0.6 b
3

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


